EXERCISE IN IDENTIFYING PREMISES AND CONCLUSIONS 

IN ARGUMENTS.
Solved Problem

1.1 Some of the following are arguments.  Identify their premises and conclusions.

a) He’s a Leo, since he was born in the first week of August.

b) How can the economy be improving?  The trade deficit is rising every day.

c) I can’t go to bed, Mum.  The movie’s not over yet.

d) The building was a shabby, soot-covered brownstone in a decaying neighbourhood.  The scurrying of rats echoed in the empty halls.

e) Everyone who is as talented as you are should receive a higher education.  Go to college!

f) We were vastly outnumbered and outgunned by the enemy, and their troops were constantly being reinforced while our forces were dwindling.  Thus a direct frontal assault would have been suicidal.

g) He was breathing and therefore alive.

h) Is there anyone here who understands this document?

i) Many in the U.S. do not know whether their country supports or opposes an international ban on the use of land mines.

j) Triangle ABC is equiangular.  Therefore each of its interior angles measures 60 degrees.

EXERCISE IN IDENTIFYING PREMISES AND CONCLUSIONS 

IN ARGUMENTS.

 Solution

a) 
Premise:  He was born in the first week of August.


Conclusion: He’s a Leo

b) Technically this is not an argument, because the first sentence is a question; but the question is merely rhetorical, suggesting the following argument:


Premise: The trade deficit is rising every day.


Conclusion: The economy cannot be improving.

c) Premise: The movie’s not over yet.


Conclusion: I can’t go to bed.

d) Not an argument; there is no attempt here to provide evidence for a conclusion.

e) Not an argument; ‘Go to college!” expresses a command, not a statement.  Yet the following argument is suggested:
f) Premise:  We were vastly outnumbered and outgunned by the enemy.

Premise:  Their troops were constantly being reinforced while our 
forces were dwindling.


Conclusion:  A direct frontal assault would have been suicidal.

g) Though grammatically this is a single sentence, it makes two distinct statements, which together constitute the following argument:


Premise:  He was breathing.


Conclusion:  He was alive.

h) Not an argument.

i) Not an argument.

j) Premise:  Triangle ABC is equiangular.


Conclusion:  Each of its interior angles measures 60 degrees.
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